MVAL of associated tracks (recoToSim) vs. track P, MVAL1 of non-associated tracks (recoToSim) vs. track P,

n T )
z h s s ¥ <72y S U U N—
S I e E g ++ : SR
g0l AT T — 5
e e A e 5 4
5 B : 5
0.4 fes =
o [ 1 i 30.2
— "y
<>‘:02_ """"""""""""""""""""""""" -lr':.,.. """""""" §_04
2 [ 2 R
O_ ................................................................
B -0.6
0.2 i T
N : : : -0.8
V| IR e oo
.9 1.4 1 IIIIIII..-I 11 11111 9 _1 ;
I T 15 :
0 ] e RN H A Rl PR S R H :
................................. 1F :

IR LT
TR AL

I 2 3 -1 2 3
Tra%:(% P, (Ge\})O 10 1 10 Tra%:% P, (Ge\})O

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
| MVA1 of associated tracks (| —e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001 _Global__mkFitNewBinsDC1000time__ RECO

0.95

< W T 5 2 Hl . i i
8 5 5 5 . & ANl e TTE i
5 5 : : : s [ : : :
@ I #, : """"" : : : ".. Q B : : :
S5 Ll : 4 : : L] = 0.2t 11 N 1 -
2ottt e TS el AT = O24n i v
S [I||] 48] |31 |3 {1311 [¥s = [l : :
= : LYk » AT1¢ o CLLif L SHLHE 1
- 'R a2 Tlat 1 — O : # FEELL| (44t hdnl: e
8_ F 1% i 3Esai 3 > K 1% 2(4% '“" & : ":' » 4
5 0.6§r it T[T = (TR 1at14Tel [ 1 i s ::llill ::"
4 3—0 2 NNEE LY L -". ) 3 . +| T, 1 AL LT
o 4 Sl ‘:h? +1 ey d lhes .*"'
2 ::' C 9 1L ‘.n s
> | i
S 0.4 [ [t Z0.4r
_ 0.6t HHETHHHHEH TR T
Q.2 bbb P
o _08 R ) R SRR IS - L S
L»O L1 1 1 . L1 1 1 . L1 1 1 . | T | . L1 11 . 111 —1_|"|"|'"|"."|"|"i"|"."' | ."I"I'"I"I"."I"I'"I"I"
oL-Wr g g : : : o F g +A1[: 5 5 g
= [ : : : : : = vafbt- P AT - R4 4
< [+ : : B 4 © g *
e L% H + (e 1.2 'Il"" !l'“'
1H * “JI" i _ 5 y v L [ 4+ * *
r T "En '3 b B B 4T 14| [+ |- -FHA-
L 1tT# 41T ! ]
- 4+ n"" it 5“4." 1t 1 o.sbl. -
0.95 2 - F 3

2 -1 0 1 2 3 3 2

|
w



	Contents
	Page 1


